aos AH

F60mm( bar PS)
GLY?
20
(4] 200l/min, 37kw
[5]se
10 100mmis 1S019/16 T 80
1.1
X-MAN - 60 / 250
260mm
40=0 40bar
100=0 100bar
250=0 250bar
60=60mm 400=0 400bar
12 mhm]
X-MAN-60
26.9
5
|
(i)
N 23
Py S

xMAN X-AQM-6  X-AQM-6/T

K120- 1



2.1
X-AQG - 20 *x /*
X-AQG=
X0oQ = _
X-AQM= IWG=
X-AQP = PE=
=GAS
X-AQG X-0Q X-AQM X-AQP
10=G3/8" 10=G3/8" 6 =G1/4" 6=G1/4
15=G1/2" 15=G1/2" 6/T=G1/4'
20=G3/4" 20=G3/4"
25=G1'
3R2=GH4+
40=G 17
22 [mm1]
X-AQG
A
GAS B C D Emax F G H [kal
[bar]fl/mifd
L '_‘1 - = "
T X-AQG-10 | 350 | 30 |3/8"| 70 | 135 59 | 92 | 83 | 25 | M25x1| 0.5
E H
o w
of < X-AQG-15 | 350 | 45 |1/2"| 80 | 15 | 67 [ 106| 96 | 30 [M30Ox 15| 0.7
1
C
. T . X-AQG-20 | 350 | 80 |3/4"| 100| 17 | 84 | 131|119| 40 |M4Ox 15| 1.4
Dt
X0Q B v -
=/
= ; Alse|lc|lo|lel|rfl|ae H
< ) .L]_Tku] ymi| GAS kgl
- = [bar]{l/mi
C X-OQ-10 | 500 | 30 |3/8"| 14 | 73 | 40 | 44 | 32 | 110 35 0.7
IL - {%i ' _'4{ X-OQ-15 | 500 | 45 |1/2"| 16 | 83 | 43 | 48 | 36 | 110 37 0.9
- =lin & X-0OQ-20 | 315 | 80 |3/4"| 18 | 95 | 55 | 62 | 41 | 180 45 1.6
i X-0Q-25 [ 315|150 [ 1" | 20 | 113| 65 | 66 | 55 | 180| 55 2.2
: <t X-0Q-32 | 315|200 ) 1/4"| 22 | 121| 65 | 66 | 55 | 180 55 3
X-0Q-40 | 315|300 [L V2"| 24 | 131| 84 | 96 | 75 | 180 102 4
X-AQM-6/T
X-AQM-6
(37/4
[ | .
T = 5 T
J— 2 [ u N
~ P — 1< A
= i . il NI
5 = i / ® I'|.\ } N
— aty
N9 3 63 1<
LIl 1
< >+
350bar
X-AQP-6 230
]:j [l i 3744
P = ) e _{1+ 4;: 1 1
I ™~
g [& | & _am » als 2| Ly Al
/‘ <> I T \( //u
o Il n N " - {
) & b - = Py i N e
2 - Vared
o 17\ N ) Y.
ol o T S
g =
- - zy t2s =l -
LE = = ]
320bar i,

K120- 2




3.1
Y-SB330 6 - A - /112 A 330A *x
Y-SB330= |
) 330 =330bar
4=4
10=10 = Tuv
20=20 = DRIR
U= CE
A= GAS
1= -
1=7/8 "UNF 2=
3.2
20 +70
NR
330bar
DIN51524 535 Atos
15019/16  ( 25 Um . B 5¥5 )
T<80
3.3
pMin=0.25%xP . pmax< 0.9xP: Po=0.9P:
_ AV
(PJP1)°'7143@/Q )0.7143 Po=
pr=
p2=
AV AV
Vo=m=——— V, R
P@p: 1/p2)
3.4 [mm]
PE
¢D 7/8" UNF
a
\ %
7
Z
%
%
7
Z
Z
,',7
£Z
< z%
|
\ Vi -
A - I
A+ L - ‘\I/
|
o]
A B C ab ok oF G K L [kd]
Y-SB-*4 3.7 410 58 63 173 25 52.5 GLY," 50 50 11.5
Y-SB-*10 9.3 568 58 103 222 55 76 G2" 70 70 31.5
Y-SB-*20 18.4 896 58 103 229 55 76 G2" 70 70 50.5

K120- 3




4.1
Y-RE - 301 il I*
Y-RE= @ ) JWG=
| FE=
200,301,302,502
4.2 X-RE
Y-RE-200 20 701/min 2.5 5.5kW
Y-RE-301 55 125L/min 7.5 15kW
=60 Y-RE-302 65 155L/min 13 20kW
=20 Y-RE-502 85 220L/min 15 37kw
( . ,
= kw 1L/min
20 25 30 35
1 0.88 0.75 0.65
12bar
, ) 4 5bar
X-RE
DIN51524 535
15019/16( 25/ bm B =75 )
40 15 100mmfsec(ISOVG15~100)
4.3
4.3.1
, kw 3
1l/min , 30 N
_ /4 —
1=YRE-200 . 40 = 24
2=YRE-301 = = ]
3=YRE-302 = T
4=YRE-502 -H x 4 < 18
% A 1A &
2 Ve - TV
=712
4.3.2 0 /// e as——
5=YRE-200 _é//—é_ﬁ) s
6=YRE-301 Q 10 20 i 4 -l D 50 a0 150 200 250
7=YRE-302
8=YRE-502 A [ ] [Vmin]
4.4 in 1
[} H _
1/4"
e [1o
& 90 | 1 D E
T SR
S| -
o . /7 N\
<4 \ S v <A
o \ /| Pl
J— N
— b / E -_’/ Jj
I A~
-~ o ) -
[LORN — | | [ ~
| | ~ e’
2 g2 |
G1/4
70 M
] | L N
i
A F
A B c D E F G H I J K L M N P
? | [kal
Y-RE-200 315 83 110 G1"| cier 95 85 150 93 160 58 61 25 70 63 60 5.5
Y-RE-301 490 80 110 G1hl GU2" g5 85 310 90 330 58 61 25 70 63 60 7
Y-RE-302 740 80 110 Gu,l Gl2" g5 85 560 90 580 58 61 25 70 63 60 10
Y-RE-502 745 130 | 170 G1,| G1"| 130 105 535 90 | 575 70 70 45 105 90 90 25

K120 4



4.5

Y-CS-AIR-20 20K / 380 *x /*
Y-CS-AIR-26= WG=
IPE=
10K
20K 380=230/400VAC  50/60HZ
30K
4.6Y-CS-ALR-20
A t=40°
¥-CS-AIR-2010K/380 5 35 I/min 1.2—2.2KW
v-CS-AIR-2020K/380 2D 100 I/min 4.2—6.5KW
Y-CS-AIR-2030K/380 4 130 V/min 12.5~20KW
Y-CS-AIR-2010K/380 BIdB[A]
Y-CS-AIR-2020K/380 ®dB[A]
Y-CS-AIR-2030K/380 DdB[A]
47 36
20bar
, 4 Sbar
DIN51524 535
15019/16  ( B2s75 )
40 15 100mmisec(SOVG15~100)
4.7
471
1=Y-CS-AIR-2010K/380 E ) 25
2 = ¥CS-AIR-2020K/380 —
3=Y-CS-AIR-2030K/380 —_ 25 5 2
s =
Ao < Pl
e 3 > 13 f
e e /
S - i
472 o 1
4=Y-CS-AIR-2010K/380 x P s / /
5 = ¥CS-AIR-2020K/380 5 :Lz DS
6=Y-CS-AIR-2030K/380 e 1 »
t—m e
a D 20 30 440 50 60 a i &aa oD 120 0
AL ] [I/minl
4.8 hm]
(«
. |piw
e K
0 55

“

KX D

3a

ﬁ @9 x1

e =
]

i

*
N\
1/

4-O A 33
15 1DD |15
130
A B c D E F G H J K L M N P Q N ot}
Y-CS-AIR-2010K/380 10 a4 238 150 D 180 154 53 32.5 125 194 225 260 230 280 | G1/2" G1/2"
Y-CS-AIR-2020K/380 10 44 288 200 140 282 252 53 32.5 145 244 325 310 280 327 | G34" G34"
Y-CS-AIR-2030K/380 1 a4 | 438 | 350 | 380 | 380 | 350 | 64 | 37.5| 170 | 394 | 423| 410 | 380 | 480 | 61" | 61"




SAE

5.1SAE-3000
X-WF A - 40
X-WF=SAE-3000 = s
p= s
D= s GAS )
5.2SAE-3000 [mm]
WFA WFP WFD
G 5
B H, N
—
— 1 ~ _
s N
7 N
(i I\ w (x| o x| o[x|o
e I\ ):} o < [ e|s|= < e|s|® = —-%|s|a
/ANY \‘// N
7, N N / | | |
\ /
$E / A 29 2.9 R 2.9
a2
N
M
A B c D E F G H J K L M N P Q R S T WEP
(GAS) WFA WFD
WF*-20 |47.63| 65 |22.23| 50 11 | 285 [ 12 4 20| 23| 32| 36| 18 | 19 | 28 | 19 | 36 | 3/4" |0 4100|M10x 25|M10x 30
WF*-25 |52.37| 70 |26.19| s5 11 | 355 | 12 4 29| 31| 40| 38| 18 | 25 | 34 | 22 | 38 | 1" |0 4131|M10x 25| M10x 30
WF*-32 |58.72| 79 [30.18| 68 | 115 | 425 | 12 4 34| 36 | 45 | 41 | 21| 32 | 428 22 | 41 |11/4"|O 4150|M10x 30 |M10x 35
WF*-40 |69.85| 93 |35.71| 78 | 135 | 49 15 4 42 | 45 | 54 44 | 25 | 38 | 486| 24 45 [11/2" O 4187|M12x 30 |M12x 45
WF*-50 |77.77| 102 [42.88] 90 | 135 | 61 | 15 4 53| 55 | 64 | 45 | 25 | 51 | 61| 30 | 45 | 2" |[O 4225/M12x 40|M12x 45
WF*-65 | 889 | 114 [50.8 | 105 | 135 | 77 15 4 64| 68 | 77| s0 | 25 | 63 | 77 | 30 | 50 |21/2"|O 4275|/M12x 40| M12x 45
WF*-76 |106.38| 134 [61.93| 124 | 175 | 90 | 20 5 80| 83| 92| s0 | 27| 73 | 92 | 34 | 50 | 3" |[O 4337|M16x 45|M16x 50
5.3PFG
W-WLG - 1 - 12
[GAS] 38=G3/8"
W-WLG=PFG 1=1 12=G1/2"
2=2 34=G3/4"
3=3 100=G1"
54 PFG [mm]
o WG
c
2 w
: ~
/ \ o e K\\
Ay A\ 4
X
BF
E
A B c D E F G 0
W-WLG-1-38 26 125 G3/8" 18 30 6.5 30 0-121 M6x 35
W-WLG-1-12 26 125 G1/2" 18 30 6.5 30 0-121 M6x 35
W-WLG-2-12 31 185 G1/2" 20 40 85 40 0-130 M8x 45
W-WLG-2-34 31 185 G3/4" 20 40 8.5 40 0-130 M8x 45
W-WLG-3-34 43 25 G3/4" 26 56 105 43 0-4118 M10x 60
W-WLG-3-100 43 25 G1" 26 56 105 43 0-4118 M10x 60

K120- 6




